Knotopt

iccoil

The coil geometry, in real space, is determined.

[called by: oculus:bs00aa.]
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1.1 overview

1. The coils are assumed to be closed (i.e. periodic), one-dimensional loops embedded in three-dimensional space, with position
described by x(t) = z(t)i + y(t)j + z(t)k, with the arbitrary curve parameter t € [0, 27], and x(t + 27) = x(t),

2. Presently, a Fourier representation is assumed, e.g.

N N
r = Toe+ Z T, cOS(mt) + Z T, s Sin(mt), (1)
n=1 n=1
N N
Y = Yo+ Z Yn,c cos(mt) + Z Yn,s sin(mt), (2)
n=1 n=1
N N
z = 2o+ Z Zn,c cos(mt) + Z Zn,s Sin(mt). (3)
n=1 n=1
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